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(3m = (W3) = 0

(4)(6)  = (6K4)  = 0

(4)(9)  = (9)(4)  = 0

(W6) = 0

(W3) = N(6) 0

(6X10) = (10)(6) = 0

(Q(9)  = (9X8)  = 0
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#

$1 a f 0
.

ab = a0

Imungnia~m~on

b = 0

Iu&uo&iuan”ed

sll b # 0

L
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2.2 %@aolwl~46lPbaoab~Pr  (Integral domains)

L (ab) =
a

= 0

b&i i(ab)  = ($a)b





22

n”aeha  2.3.1 as (Z, + , .) 0 Char(Z) = 0

n”a0di.a 2.3.2 ‘24 (26,  +6,  .6) G  Char (26) = 6 bW71: 6 . r = 0 Yr E Zg

d.a
oauflo o + o + o + o + o + o  =  0

1+1+1+1+1+1 =  0

2+2+2+2+2+2  =  0

3+3+3+3+3+3  =  0

4+4+4+4+4+4  =  0

5+5+5+5+5+5  =  0

iblh 2.3.3 as  (z,,  + “,  ..) i  C h a r  (Z,,)  =  n
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